CAULK WHERE INDICATED

EXIST. STEEL JOIST
FIELD VERIFY

CAULK WHERE INDICATED

1/2"¢ A307 BOLT
W/ WASHER AT

NEW DBL. 1-5/8" X 3 1/4” X 12GA.

(¢ INTERPLAN

INTERPLAN LLC

METAL STUDS W/ #8 BUGLE HEAD 16" 0.C., FIELD VERIFY

SCREWS AT 8" 0.C. EDGES AND
IN FIELD.

METAL STUDS W/ #8 BUGLE HEAD
SCREWS AT 8" 0.C. EDGES AND
IN FIELD.

NEW 6"x18GA. DIAGONAL METAL STUDS SECT|ON C

AT 48” 0O.C. e
(S‘é)Ré“}/g Tl"g(llg‘\ 1 1/2"=1"-0 S5.02
NEW 6”x18GA.
METAL STUDS AT K /
VARIES | VARIES 16" 0.C. ;

FIELD VERIFY \\( FIELD VERIFY |
EXIST. CEILING FIELD EXIST. CEILING FIELD
VERIFY VERIFY
NEW 18GA. CONT. TRACK NEW 18GA. CONT. TRACK FOOD UON

ATTACHED TO EA. STUD ATTACHED TO EA. STUD R EM O D EL

%Em) #0 TEK SCREW EA. %Em) #0 TEK SCREW EA. s i N
PARALLEL TO JOIST STORE #2839

NEW 6”x18GA. DIAGONAL METAL STUDS
AT 48" 0.C.

foodlion.com
Food Lion is an AHOLD DELHAIZE company.

BY ARCH. DRAWINGS BY ARCH. DRAWINGS 247 0.0 X S*GT 12/42”” g e ARCHITECTURE
18GA CONT. TRACK ATTACH ol e et ENGINEERING
TO EA. STUD w/(1) #10 TEK : ., 5 PERMITTING
SCREWS EA. SID/E( ) TO EA. STUD w/(1) #10 TEK " EXIRT. 12" oMU WAL 0 - 0 . . T e e el
SCREWS EA. SIDE & 8 FIELD VERIFY
H g
.7 . H \ —\ [\ i = EXIST. PRECAST LINTEL OR e sl e e e
Bl T Ja T M_BRG- F £ EXIST. JST. BRG. = H CONC. BEAM ABOVE EXIST. = i 220 E. CENTRAL PKWY, STE 4000
I = +/—20-0" y ] W OPENING ALTAMONTE SPRINGS, FL 32701
N FIELD VERIFY </ | FIELD VERIFY \ / 407.645.5008
|| EXIST. STEEL JOIST , | } =0 L e e e Tt s e et el et R s sl e O R O FS
FIELD VERIFY | i { T/EXIST. OPENING $_
: : VI P | | FIELD VERIFY | |
nn L | n St | : : : : .
= i : : ’ | (1)#10 TEK SCREW EA. SIDE, EA. STUD ‘\v ..... No/w%’
] & o O e,
| L Th - : : DOWELS MATCH WALL VERT. oSt Y
EXIST. STEEL JOIST ||| | \3 5/8"-18GA. METAL STUDS | B S/ 18R CON1L sl Lol PROVIDE 30” SPLICE, DRILL : : 7 gy 43
FIELD VERIFY 4)#10 TEK SCREWS, TYP. AT 18" 0.C. = . ¢ e 1 T w0 tnt
| S ] (2)#10 TEK SCREWS EA. STUD 5 . g‘XIgF;OﬁYN?ELM'N' INTO | | it %u’é g - i81
¥ = : : " | | NEW 14GA. CONT. TRACK T 02 el g éu 7
- i . ”» “'.‘( ..'- o ."‘. & .':
I : ! : : NEW 12" CMU INFILL REINF. | ! \' ’POSIE ..... . &
. I y W/ (1)#5 VERT. EA. END AND | | 6"x18GA. METAL STUDS s, e
| : AT 24” 0.C. MAX. IN GROUTED | \ | AT 16" 0.C.
|| : : : : CELLS & 9 GA. HOT DIPPED
| . . GALV. LADDER TYPE HORIZ.
| || : : JOINT REINF. AT 16” O.C. SECTION m
|| || : : ATTACH JOINT REINF. TO =g e
| [ : : EXISTING JAMBS W/ DOVETAIL 11/2"=1-0 '
| ] . : ANCHORS AT 16" O.C.
I ; = ; NEW DBL. 1-5/8" X 3 1/4” X 12GA.
: }l\_ | DRILL AND EPOXY (1)#5 E-E geT 12/42" OTgTAL DEPTH ) UNISTRUT El 8
VERTICAL REBAR 30” LONG - = o e
| \—3 5/8"X 2" FLANGE 18GA. METAL STUDS | |\3 5/8"X 2" FLANGE 18GA. METAL STUDS (EMBED 6” INTO GROUTED CMU Be== B/EXIST. OPENING 0 £ 5385
|| AT 12” 0.C. || AT 12" 0.C. WALL), TYP. : E FIELD VERIFY | g‘;s;g
| :\ : :\_ : H EXIST. 12” OMU WALL -~ - o pETTmTm e /7‘-—___ g |7 2255 g
| SHEATHING, || SHEATHING, - g FIELD VERIFY / [ﬂ §§‘§§,‘ &
I SEE ARCH L SEE ARCH : - I SR Lo 0 EEELE
: : N . . EXIST. SLAB ON GRADE 0 E 5
| \‘l ‘k‘ E E H §
™ N H H T/EMST. sk - . . by N 3
[ || o - <. T =0'-0" m z
= % FIELD VERIFY 7
: : : : n FNAONANANAN AN 1/2"¢ A307 BOLT W/
N i WASHER AT EA. JOISTS
|| 18GA CONT. TRACK ATTACH | 18GA CONT. TRACK ATTACH . o AND AT 24" 0.C. MAX. ENGINEER'S SEAL:
B TO CONC. w/(2) 1/4°8 X 1 3/4” EMBED B TO CONC. w/(2) 1/4°8 X 1 3/4” EMBED u 8
TAPCONS AT 12" 0.C. ATTACH EA. METAL TAPCONS AT 12" O.C. ATTACH EA. METAL 5
[ STUD TO TRACK w/(1) #10 TEK SCREW I STUD TO TRACK w/(1) #10 TEK SCREW H o
[ EA. SIDE. | EA. SIDE. SNV SNCANTAN //\\ Vi H
[ REFER TO SLAB PLAN | REFER TO SLAB PLAN IR 5
| FOR EXISTING/NEW SLAB | | FOR EXISTING/NEW SLAB EXIST. SLAB ON GRADE u é
[ I s a NEW 6” X 18GA. METAL
-I 'm : STUD DIAGONAL BRACING
/ / > e AT 4-0" 0.C.
4
A i SECTION B
1 1/2"=1"-0" S9-02
» ’ ” /_\ 2 ’ 2 /\ ) ’ » /\ ""4, ?\o\\\\\‘
3/4" = 1'—0 S5.02 3/4% = 1"=p S5.02 3/4" = 1'—0 S5.00 HA
HAROLD G. HIGGENBOTHAM
PROFESSIONAL ENGINEER
NEW DBL. 1-5/8" X 3 1/4” X 12GA. SC REG. NO. 25574
EXIST. METAL DECK EXIST. METAL DECK _@. B REVISIONS
N\ NO DATE  REMARKS
4 J[? S\ /_\_/"—\_/_\_/_%\_/_\_/'_\_/_L/_'\ A X TN N
T i i | / y 1/2"% A307 BOLT W/ WASHER
AT EA. JOISTS AND AT 24" O.C.
ﬁ 1/2"¢ A307 BOLT W/ WASHER \ ; MAX.
AT EA. JOISTS =
77N \ W TN \ ) N
z A [
I ] s | _& VARIES : @ \ VARIES P / P
LA ik FIELD VERIFY L e FIELD VERIFY
3 47 i
ﬁ | a | | | BOTTOM CHORD EXIST. JOIST
W N 1/2”8 BOLT TO UNISTRUT W ] EXISTING STEEL JOIST | l
I l | I : : (1)#10 TEK SCREW EA. SIDE, EA. STUD
EXIST. 1/2” PLYWOOD SHEATHING OR 11 EXISTING STEEL JOIST EXIST. 1/2” PLYWOOD SHEATHING OR 11 | |
GWB FIELD VERIFY. ATTACH EXIST. | GWB FIELD VERIFY. ATTACH EXIST. | NEW 14GA. CONT. TRACK
PLYWOOD TO NEW METAL STUDS W/ a PLYWOOD TO NEW METAL STUDS W/ N | q
#10 TEK SCREWS AT 6” 0.C. X NEW DBL. 1-5/8" X 3 1/4” X 12GA. #10 TEK SCREWS AT 6” O.C. i\ I | k
EDGES AND 12" O.C. IN FIELD. [ (6 1/2" TOTAL DEPTH ) UNISTRUT EDGES AND 12" O.C. IN FIELD. [ , I NEW 6°x18GA.
ATTACH EXIST. GWB TO NEW || AT 24" 0.C. ATTACH EXIST. GWB TO NEW | | l METAL STUDS AT
|| |
|| |
|| |
|| |
|

(4) #10 TEK
SCREWS TYP.\_

telephone: 704.633.8250

/ NEW 6”x18GA. J/‘
N METAL STUDS AT N I'
W4 16” 0.C. W4

2110 Executive Drive, Salisbury, NC 28147

4"x4"x4"x14GA.
CLIP ATTACH TO

PERPENDICULAR TO JOIST

S (BULKHEAD) EXST. JOST W/ 860 PARRIS ISLAND GTWY
(2)0.145 PAF AND E)%ETFOMJO(I'J;'PRD
SECTION /4" SECTION /5 fo.3T0 W ‘ BEAUFORT, SC 29906
kdareiin o W&, = =0 S PROJECT NO: 2021.1218

DATE: 7/5/22

28 OF 54

55.02

STRUCTURAL DETAILS

NEW. 6” X 18GA. METAL
STUD DIAGONAL BRACING
AT 4'-0" O.C.

SECTION /D)
\geog)

SHORING NOTE:

THE GENERAL CONTRACTOR SHALL PROVIDE SHORING FOR EXISTING BULKHEAD
COMPONENTS. SHORING SHALL REMAIN IN PLACE UNTIL ALL NEW STRUCTURAL
SUPPORTS AND CONNECTIONS ARE INSTALLED.

11/2"=1"-0" S55.02
CHECKED: HGH DRAWN: RED



